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Note : Attempt all questions.

T TR T TR © |
Graph paper is required.

qa= R : (i) HeIForR F WM i STAM T
General Instruction : Use of calculator is not permitted.
(ii) 9 hHH 1 H 09 @S § | @UE () T Fgfashedid U, WUS
(9) H 3 wrery SifeT qen woe (9) ¥ e v 61 gfd fau
T | Tk Ue W 1 3k oTreifed | |
Question No. 1 has three parts. In Part (A) Multiple choice
questions, in Part (B) Match the following and in Part (C) Fill
in the blanks are given. Each question carries 1 mark.
(iif) % i 2 ¥ 6 I AfTeTSTIT T3 € | A% T W 2 %
aTreifed € |
Question Nos. 2 to 6 are very short answer type questions.
Each question carries 2 marks.
(iv) 99 hHieh 7 ¥ 10 I Afderestid 999 € | e 99 W 3 3k
areifed € |
Question Nos. 7 to 10 are very short answer type questions.
Each question carries 3 marks.
S-2A+ P.T.O.
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(v) T HEE 11 ¥ 14 TF THSWE T ¥ | TAh T H Talew
foehed § | Tish U9 W 4 3ih 3meifed © |

Question Nos. 11 to 14 are short answer type questions. Each

question has an internal choice. Each question carries 4 marks.

(vi) ¥ hHH 15 TS 16 T[T T § | Tesh T | Aiafieh fashed
T 1 IF I R 5 3 eifed ¥ |
Question Nos. 15 and 16 are short answer type questions. Each

question has an internal choice. Each question carries 5 marks.

(vii) T ShHi 17 T 18 eSO U9 § | oieh U9 | SAidfieh fashed
T 1 T U W 6 31k oTmeifed € |
Question Nos. 17 and 18 are long answer type questions. Each

question has an internal choice. Each question carries 6 marks.

U1

(@ueg-31) HEl faeshey g fafan [ 1x5=5]

(Part-A) Choose and write the correct option :

(/) tan (90°— 60°) T HE AT :

(3 BB

(o 1

(@ 0

()

-

S-2A+



(i)

The value of tan (90° — 60°) will be :

(@ 3

(b)

(c)

(d)

FEAS P(x) = x% — 5x + 6 o IAHI I ATHA BT :

1

0

i
NG

(81) =5

(9) 5

(3) 6

The sum of the zeroes of the polynomial P(x) =x%— 5x + 6 will be :

(a)

(b)

(c)

(d)

(@ -8
5

S-2A+

P.T.O.
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(iii) 99 R feq fordt fag R oot et Tamd S < gedt © 2
(&) Th
() X
(&) oM
(3) T | &1 T&l
How many tangents can be drawn at any particular point on the circle?
(a) one
(b) two
(c) three

(d) None of these

(Gv) 1= 9 9 FF-91 iR, vt gee 98§ 2
1
(3) x+—=2
X
(M ¥*+7Jx+9=0
() x2-9=4
(a) x2+x:§

Which of the following equations is not a quadratic equation?

(a) x+l:2
x

(b) ¥ +7JIx+9=0

() x*-9=4

@) 2oy
2

S-2A+
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(v) T Sl 1 A e ST F g F9U Y S ¥, 9 SHe 3
IR o T AR S ISl &

(37 5%
() 20%
(@) 10%
() 30%

A person whose annual taxable income is more than Rs. ten lakh,
will have to pay tax along with cess :

(@ 5%
(b) 20%
) 10%
d) 30%
Yg-1  (@UsS-9 ) 3fua gy SifsT [ 1x5=5]
(Part-B) Match the following :
(A) (B)
(/) O @2y +x =4 F @ & g gt (@ 1

Slope of line in the straight line
2y +x =4 will be

(i) A < gy fAysi & Sawd
TR €, @A s e € (b) 9

If areas of two similar triangles are
equal, then those triangles are

(ii) 8 TAT 10 T THII HIEA BT © -
The arithmetic mean of 8 and 10 will be
(iv) 3AfC 0 =45°Tl, T tan20 T TH BT d 12

If 6 = 45°, then the value of tan?0 will be
(v) Todt =@ ) gdig fasoil o6t dem gt (¢) TahTEH/Congruent

The number of surface diagonals of a
cube is

S-2A+ P.T.O.
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YIT-2

YI1-3

-4

[6]
(@us-u) o T &t gfd i [ 1x5=5]

(Part-C) Fill in the blanks :
(i) U9 HES gl G T 2 |

The square of even numbers is always number.

(if) 12 3R 6 T FAAAE Ul
The third proportional of 12 and 6 will be
(iii) e forg | 99 R i TE w9 @il i oAt B B

The lengths of tangents drawn from an external point of circle are

(iv) T5@ T R = 6t IO TS R, 39 FEAE

The amount on which the interest is calculated 1s called

(v) afc forelt farg o fderies (8, 0) &1, 1 38 fog 3787 WX Ty R |
If the co-ordinate of any point is (8, 0), then this point will exist
on the axis.
c05265° + c0s225° T HIF F1d hiTeIC | [2]

Find the value of cos265° + cos225°.

I (x+5):45:1:5 B, A x T A Jq HIFC | [2]
If (x+5):45::1:5, then find the value of x.

T @ foeg (7, 9) a9 (5, 3) ¥ TR I §, <t 3T Y& <t YUl A1 hifie | [2]
A line passes through the points (7, 9) and (5, 3), then find the slope of

the line.

T FHIERLOT I T DI : x2 — 10x =0 [2]

Solve the quadratic equation : x% — 10x =0

S-2A+
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UgT-6 {7 SAlRs! § TRt J1d iy ; [2]

35, 31, 33, 28, 30, 32, 34
Find the median of the following data :
35, 31, 33, 28, 30, 32, 34

Y9A-7 o G0 x2 — Sx + 6 =0 < Hall Sl YR F1d HIIT | [3]

Find the nature of roots of the quadratic equation x2—5x+ 6 =0.

WoT-8 g IS T 2k + 7 Tow forvm quiles €, STl & T qUlieh € | [3]

Prove that 2k + 7 is an odd integer, where £ is an integer.

[N

U9A-9 8 UHI. ™ 9l TGl ol TshYS hl &AHA 1A hiTwIT | [3]

Find the surface area of a hemisphere of diameter 8 cm.

TA-10  AE (x— 1), TEIE P(x)=kx2—5x+3 o TOHEUS §, A k1 A @ i€l [3]

Find the value of k if (x — 1) is a factor of the polynomial P(x) = kx% — 5x + 3.

U9A-11 14 9. SEE 9Tl o % GshYtS o1 &kl 88 o Y. | Setd hT STd

1A HifST | [4]

Area of curved surface of cylinder, whose height is 14 cm, is 88 square

cm. Find the volume of the cylinder.

sTar

OR

Ife fdt 3 & IhYS o1 &%al 771 o U T AT STHT SR H A
14 Y. B, T Y W Bl HAE A BT |

If the curved surface area of a cone 1s 77n square cm and diameter of its

base is 14 cm, then find the height of the cone.

S-2A+ P.T.O.



TIT-12

YI1-13

[8]
T oA HIEATHE el & Bie-ag o=t (faenfeefl) & 9 & i ey g

B 139 3tfehel ol WeA A1 I [4]
g fe. o 30-40 | 40-50 | 50-60 [ 60-70 | 70-80
ferenfeiat =t den 11 29 6 3 1
Data of weight of young and old groups of children (students) of a senior
secondary school is given below. Find the mean of the data :
Weight in kg 30-40 | 40-50 | 50-60 [ 60-70 | 70-80
Number of students 11 29 6 3 1
3rerar
OR
Toh-foad STy fohche Tl © agad © Tigamsii g ol T4 et faehel =t
A o SAhs dlferehl § ST T § | 37 SRSl ol Igaish J1d hifTg ;
forerel st wem 0-50 | 50-100 | 100-150 | 150-200 | 200-250 | 250-300
Tgarsil oht W& 4 5 16 12 3 2
Wickets taken by many bowlers in international one-day cricket matches
are given in the table. Find the mode of the data :
Nos. of Wickets 0-50 | 50-100 [ 100-150 | 150-200 200-250 | 250-300
Nos. of Bowlers 4 5 16 12 3 2
fag ifse foh afs fhel s 1 T S o TH=R st & el ol f9=1-
Ty forgstl W ufd=ee it g8 Toh Y@ Sidl Sy, A1 I8 @1 34 Gl T3l bl
T &1 T | faanfea st € | [4]

Prove that if we draw a line which is parallel to any one side of a triangle
and intersects the other two sides at different points, then this line divides

these two sides in the same ratio.

sferar
OR

S-2A+
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Y91-15

[9]
A PAB 91 &t &S Y@ &, Sl I i 4 3R B R gfa=s <t § IR PT T
Tt TErEve 7, o (g IS o P4 x PB = PT2|

If PAB 1s a secant to a circle which intersects the circle at 4 and B, and PT

is a tangent to the circle, then prove that P4 x PB = PT2.

x dy H Tk T {1 hitse difek forg (v, y), forgall (7, 1) 3R (3,5) ®
TG T
Find the relation between x and y such that point (x, y) is equidistant from
the points (7, 1) and (3, 5).
3ar
OR

x o fafy=1 ami & fau x2 =1 9 19 Feeh x 3R x2 % JF O o™ T 3T
WifaQ | x 1 AH —4 § +4 quiich HEAd € |
Find the value of x? for different values of x and draw a graph between x

and x2. The values of x are integer numbers between —4 and +4.

qHt A fSTen TRt o | 100 €. Wi 1 10 F6T % forw swmardt S @
Qe | afg SR IRyeskd B W % Sk §R1 AT i TR 3,025 &. UG i
St €, 1 A bt X fohaw gfawra anfies g ?

Padmani opened a recurring deposit account in district cooperative bank
for 10 years and her monthly installment is Rs. 100. If on maturity she gets

Rs. 3,025 as interest, then what is the rate of interest per annum?

sTqar
OR

forita o 2013-2014 T Teh IMFhI HHART I FHed MMk 3774 4,10,000 %, o |
I 24,000 %. So <A1 Gttt st Siftier WfHas o, 4,000 %. gfqae 9@
wfee ffer o we 25,000 %. 1 U s=d U Wlied ¥ 5@ R © 1 afe @t
T R P I AHTY HH Tk A T €, A T SATIHL i UM IS |

[4]

[5]

S-2A+

P.T.O.
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[10]

TR i S FAIgER ©
. T TG G 3TIERT &l T
1. 12,00,000 %. T HIE TR &1
2. 12,00,001% ¥ 5,00,000 %. TH 10%
3. 15,00,001 % & 10,00,000 %. TH 20%

T AR, T TR 1 3% T8 ST ol © |

The income of a government employee in financial year 2013-2014 was
Rs. 4,10,000. She deposited Rs. 24,000 as yearly premium on life insurance
policy, Rs. 4,000 every month in General Provident Fund and she also
purchased a national savings certificate worth Rs. 25,000. If a maximum
of Rs. one lakh can be invested in any type of saving to qualify for tax
rebate, then calculate the payable tax.

The rates of tax are as follows :

S. No. Tax Limits Rate of Tax
1. Up to Rs. 2,00,000 NIL
. Rs. 2,00,001 to Rs. 5,00,000 10%
3. Rs. 5,00,001 to Rs. 10,00,000 20%

In addition, a 3% education cess has to be paid over the income tax.

AABC % 9Rgd & To1 FIfSW, el 4B = 8 ¥HY,, BC =5 ¥Hl. 3R L4BC
= 60° T | =1 & ug ot fafam |

Construct a circumcircle of A4BC, where AB = 8 cm, BC = 5 ¢cm and
ZABC = 60°. Write the steps of construction.

sfar
OR

T APQOR &1 W1 hifsg, {599 QR = 6 9., PO = 5 ¥+t iR ZPOR = 60°
B e & T IR AABC wht T shiferg, s AB:%PQ Bl

Construct a APQR in which QR = 6 cm, PQ = 5 cm and ZPQOR = 60°.
2
Also construct a AABC in which 4B = gP 0.

[5]

S-2A+
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Y9A-17 < 3iohi STcil Teh HEAT 1 914 I, 3fehi o qale T & et &k 4 T &
SRR & LT G&AT o Siehi 1 AN 3 ¥, A I8 G J1d HIT | [6]

Seven times of a two-digit number is equal to 4 times of the number formed
by reversing the digits. The sum of the two digits is 3. Find the number.

arerar
OR
S a, b, ¢ FFE TARR I & FHI: pd, g3 3R 4 12 €, @ fag Fifse fw
a(g—r)+b(r-p)+tclp—q)=0

If, p™, ¢"" and r"" terms of an arithmetic progression are a, b, ¢ respectively,
then prove that

a(@g—r)+b(r—p)+cp—q)=0

Uy-18  Trapvifica Tt g Shifeie : cos ,_cosb _, [6]

cosecO+1 cosecO—1

Solve the trigonometric equation : cos® cos0

+ =
cosecO+1 cosecO-1

sfear
OR

T el TS Uoh 9o+ & U T ST © | o o R W 9 U AeH Th
Rl 30° o STITHT IV T GG § | TR WG o TG i 3TR THTHH =1 §
S € 130 HY. T % 91 R H1 STETHA 101 60° BT ST §, A 9o hi e
1A hITSIT |

A straight road goes straight up till the base of the building. A man on
the top of the building sees a car at 30° angle of depression. The car is

moving towards the building at a uniform speed. After the car has covered
a distance of 30 meters, the angle of depression becomes 60°. Then find

the height of the building.

S-2A+ 1,55,000



